
 1 of 4 

 

  
 I
N

S
T
A

L
L
A

T
IO

N
 &

 O
W

N
E

R
’S

 M
A

N
U

A
L
 

CLUB CAR CARRYALL 
Side View Mirrors 

p/n: 47587417001 

 

(*=Not including accessories) 

Approximate Installation Time * 

Experienced Dealer Technician – 15 Minutes 

Average Dealer Technician – 30 Minutes 

Do-It-Yourself – 45 Minutes 

Rev. C, 08/03/2020 

p/n: IM-47587417001 

The contents of this envelope are the property of the owner.  Leave with the owner when installation is complete. 

Approximate Product Specifications 

 

 

 



 

 2 of 4 

For accurate installation, proper operation, and years of satisfaction, please read and 
understand the installation and owner’s manual fully prior to installing the mirrors. 
 

From all of us at Curtis, we thank you for choosing our product. 

  driver and passenger.

  Curtis accessory weights are listed in product

  add additional weight to the base vehicle. All
  Curtis Cabs, blades and general accessories

ADDED
WEIGHT

  brochures. Deduct the accessory's total weight
  from the vehicle's rated capacity and never
  exceed the vehicle's rated capacity including

 3/8” Open-end wrench or socket 
 7/16” Open-end wrench or socket 

WARNINGS, TIPS, & REQUIRED TOOLS 

TOOLS REQUIRED: 

1. Carryall 4x2  -  On Cab Frame: 

NOTE: The Carryall ROPS Basic Cab does not 
include doors. Side mirrors may be installed 
onto the frames in place of the upper hinges 
for the doors. 

 If doors will be installed, mirrors can not be 
installed on the frame. In that case, proceed 
to Step 2. 

1.1 Remove and discard the upper door hinge 
from the driver’s side cab frame. 

1.2 Attach the driver’s side mirror to the frame 
into the hinge holes using two 1/4-20 x 3/4” 
bolts. See Figure 1.2. 

1.3 Repeat steps 1.1 and 1.2 for the passenger’s 
side mirror. 

1.4 Torque bolts to 96±5 inch-lbs. 

NOTE: Side Mirror brackets will not be used for a 
frame install. These parts may be retained if a 
door and rear window kit may be installed 
later. 

Figure 1.2: Side Mirror to Cab Frame 

MIRROR INSTALLATION 

  

 

Exposure to Carbon Monoxide can Cause illness, 

serious injury or death.  Never operate vehicle if suspi-

cious of Carbon Monoxide.  Inspect exhaust system for leaks 

monthly.  Leaks can result from loose connections, corrosion, 

cracks or other damage to the exhaust manifold.  If leaks are 

found, repair or replace exhaust system.  Do not use vehicle 

until repair or replacement is complete. 

WARNING 



MIRROR INSTALLATION 

 3 of 4 

Fig. 2.1 

Fig. 2.3 

Fig. 2.2 

2. Carryall 4x2  -  On Cab Doors: 

2.1   Remove rubber plugs from doors in location 
shown in figure 2.1. 

2.2 Install mounting adapter to driver’s side door of 
the cab through holes where dome plugs were 
removed, using 1/4-20 x 3/4” long screws, 1/4” x 
1” fender washers, and 1/4-20 lock nuts.  See 
figure 2.2. 

2.3   Install the driver side mirror to the mounting 
bracket using 1/4-20 x 3/4” long screws as shown 
in figure 2.3. 

2.4   Repeat steps 2.1 through 2.3 to install passenger 
side mirror. 

2.5 Torque bolts to 96±5 inch-lbs. 

3. Carryall 4x4  -  On Cab (Front) Doors: 

3.1   Remove rubber plugs from doors in location 
shown in figure 3.1. 

3.2   Install the driver side mirror to driver’s side door of 
the cab through holes where dome plugs were 
removed, using 1/4-20 x 3/4” long screws. See 
figure 3.1. 

3.3   Repeat steps 3.1 and 3.2 to install passenger side 
mirror. 

3.4 Torque bolts to 96±5 inch-lbs. 

Fig. 3.1 

Remove plugs 



 

 4 of 4 

SERVICE PARTS 

# PART NUMBER. DESCRIPTION QTY. 

1 9SV-PM5L EXTERIOR MIRROR, LEFT 1 

2 9SV-PM5R EXTERIOR MIRROR, RIGHT 1 

1 2 


